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206 M= Hl 10,000 10,000 0
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307 21201 A 150,000 150,000 0
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0 = Et&Z2 THH 20 =0t K& 143,000
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s =M 533,614 533,614 0
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301 LEAF 533,614 533,614 0
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12 J|EtE& = 533,614 533,614 0
0 deZd=d ANES 951,000& = 561.108ha 533,614
| 533,614
sgAd 23 XA 10,300 10,300 0
201 Yer2 2t 4,000 4,000 0
01 At 2t 2l 3,000 3,000 0
0 AL FE L AIREE P2
250,000& = 12& 3,000
03 A2 Z Hl 1,000 1,000 0
0Oots¥ g8 1,000,000 * 14| 1,000
202 odl 5,400 5,400 0
01 2U 01 b 5,400 5,400 0
0 =LHOH 150,000& = 3H = 123 5,400
203 ¢ P E= | 900 900 0
03 Al =X A2 =XH| 900 900 0
0 =UNAASL AT 900
SAXNEN HFHH X3 75,110 75,110 0
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101 @124 dl 52,360 37,000 15,360
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J| 9,750
led SAX=EM X 15,187,648 15,187,648 0
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0 =2l FAHYI 3,500
= 3,500
2= =0 XN 11,000 11,000 0




2N
X ZH -
L= B

el

SIS dH

21MIDI s HE

g=ael

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
206 M= Hl 7,000 7,000 0
01 M= 4l 7,000 7,000 0
0 F22= =0 M2 F*&  700,000& = 102 7,000
301 LEPEXF 4,000 4,000 0
12 JIEE4 3 4,000 4,000 0
0 ERL==0 &ctXtdl K&
50,000& = 802 4,000
Ol SESHEZZI XA 30,000 30,000 0
402 RI2EX=20| A 30,000 30,000 0
01 U2 E2ALE X (KM R) 30,000 30,000 0
Ot ESHEHEZE X
2,000& = 30,0000H * 50% 30,000
222 ZZM MEH X2 26,000 0 26,000
= 26,000
206 M= Hl 26,000 0 26,000
= 26,000
01 M= 4l 26,000 0 26,000
0 382= ZH¥M M=AH K&
26,000,000& * 14 26,000
= 26,000
sS4 ZHE 25t 3,681,963 3,446,210 235,753
= 54,450
J| 486,878
< 351,193
s 2,789,442
gte FdH 23t 648,349 709,899 A 61,550
< 33,080
[ia 615,269
ZET & CIAQ OHE XA 2,500 3,250 AT750
< 500
[ia 2,000
402 RI2EX20| ™ 2,500 3,250 A 750
= 500
s 2,000
02 It 2 A EZ(OI X TH ) 2,500 3,250 AT750
0 ZEM & CIAQ OHg XI&AY
5,000,000& = 104 = 50% 2,500
< 500
s 2,000
NEZE &2y |4 49,000 49,000 0
= 10,800
= 38,200
402 RI2HXt20l ™ 49,000 49,000 0

H

10,800




sHI=HH
TR
se M A3 CEEEED
- _ _ RE]
HE -G (3H) - MEAY - BAS %@i HD=2
o 38,200
02 BIZtXIEANYEX(0OIETHHA) 49,000 49,000 0
0 SIRSEAMY 6,000& * 6,500 39,000
= 7,800
= 31,200
0 2 KA HIIAY
10,000,000& = 1JH 2 10,000
= 3,000
= 7,000
AdYE 2HAE 8,100 9,900 A 1,800
201 et | 2,700 2,700 0
01 AR 2t2l ] 2,700 2,700 0]
0 2bt==H| 2,700
o Y2 L ALY CHUXIE OIS
4,0008 » 325 1,300
o NEET U ARBE 7S
280,000 * 53| 1,400
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